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=~ Please answer the questions in English. (50%)

1. Discuss the basic categories of factors that influence personality development?

(10%)

2. Explain the “Big Five” perqonalaty factors. Use these factors to describe your
perception of the President of Republic of China? (10%)

3. How could a manager apply ERG theory to motivate employees? (10%)

4. Evaluate the statement: “A satisfied worker is a productive worker.” Under what
conditions is the statement false? True? (10%)

5. Assume that you are a student in a class and have becn assigned to do a team
project with five other classmates. How might Hersey and Blanchard’s leadership
model help you choose a leadership style? How might House’s path-goal model help

you choose a leadership style? (10%)
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1. Karl Marx *E%_ﬂ_i)\fiﬂ?ﬁ}# (A) Brig (B) 8 (C) FE (D) FH
2. "Cultural Lag pH___ FfEH (A) Karl Marx (B) Max Weber {C) August Comte
(D) Wiltiams Ogburn '
3. RS VREEmTEAE RN BIR (A A& (B) BF (O) 34
(D) 58
4. it@rE%Z Robert Merion SRBKBE B 78 (A) innovation ( B ) ritualism (C)
retreatism (D) rebellion
5. THR-—{ZZ2ERE symbolic interaction perspective( A )Williams Somner( B )George '
Mead (C) Talcott Parsons (D) Robert Park
6. —EETIRE—EAFREIEAS 2SS CRAAMERSEMERA(A Parkinson’s law
(B) Peter Principle (C) Ritualism (D) Iron Law of Oligarchy
7. KEBISESIRREIEREUR AR (A) horizontal mobility ( B) downward maobility (C)
upward mobility (D) intergeneration mobility
8. ISR AERRLEE Williams Wilson $753 HTRREAIRATFE _ HMITHER (A)
i (B) Rl (C) 4F6 (D) B
9. {fHR Gerhard Lenski FER¥: » BICAMERRGEE___ it @avdim sl - B PR IREE
{LE3R S (A) indusirial (B) agicultural (C) hunting and gathering (D) pastoral and
horticultural
10. #HET AR ERHEERS (A) SERERTFIEEE (B) ﬁlﬂf&%ﬁu/ﬁ%f& ‘
- Bl (C) HWHRER TEE% (D) BEABEFLRTA
1. BEiGEtENSEEREEEETERRENTE S (4) 20 (B) 40 (C) 50
(D) 60
12. ﬂﬁ)\@%&?ﬁﬁiﬂ@ﬁiﬂiﬁﬁﬂﬁi@ﬁ% (A ) Charles Cooley (B) Kasl Marx (C)
Emile Durkheim (D) Max Weber
13, BRF—A&EHEET S R ENIERTERE (A) 87 (B) 88 (C) 89 (D) 90
14, [EEBE MR A TTREREY% » BISEE A DS EEE (% (A) 139 (B)
70 {C) 89 (D) 50 '
15, FEEENE - HFEDEREEFTABTTSETGR KB RENRE
- B s (A) #aid (B) Se@li (C) {MES) (D) #fitk
16, PETARHER SR SRS RBHIBR (A) value-added model
(B) emergent norm theory (C) resource mobilization theory (D) J-curve theory
17, FEMEIER GBI TS R (A) SHESHEER (B) RIREER <)
iz (D) HEhwm
18. pLEYRERRTOERE (A) HHEER (B) itFmEiti (C) BREERISIT

1, (D) HREREERETT
19. FHUH-—{7 8 2HS looking-glass self BUM#TE ( A) Charles Cooley (B) Karl Marx
{C) George Mead (D) Herbert Blumer
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1.

BL drganic analogy FFZvitSRYEER (A) Augusic Comte { B) Karl Marx ( C} Emile
Durkheim (D) Herbert Blumer

Social Embeddedness TERERES__ EREINgMEE (A) #1 (B) 3 (C)
4% (D) L&A

21 organic solidarity i —#EERIRE2ER (A) Karl Max (B) Max Weber (C)
Emile Durkheim (D) Williams Ogburn

CAT AR C. Wright Mill f3{E( A )The Sociological magination( B YSociological
Imagination ( C) Division of Labor in Society (D) The Protestant Ethic and the Spirit of

Capitalism

FHIEIEES AGIL BURTHEEY — (A) Hif (B) BEEER (C) ¥& (D) B8

RIEE (C) HElWEIL g3 (D) B RRL

TAEAR

T & HE Social fact

BB A, Significant others

3 3E-7= 5 the Thomas theorem
ol (Bl surplus value

EETRHTENEPRY R © BREEREIRA ? W FIEREE
P4 EATREMIER -
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English
Please number the items on your answer sheet.

I. . Structure and vocabulary (20%)

Part {A): In questions 1-10 each sentence has four urderlined words or phrases. The four
underlined parts of the sentence are marked (A), (B), (), and (D). Choose the one underslined
word or phrase that must be changed in order for the sentence to be correct.

1. Big eyes, collapsed nose and two thick lips comprise of this absolutely unique face.
. s

B C D
2. The carly periods of aviation in the United States was marked by exhibition flights made
A B

by individual fliets or by teams of performers at couniry fairs.
C D
3. Computer technology has evolved sharply, enabled parents to monitor their children

at camp and in day-care centers through cyber visits.
C D
4. Louisville features more park land per person than any other in the nation.
A B C D
5. While looking for a job, several techniques may lead to quick success in the search.
A B C D

6. One of the reasons that Prohibition was sdch a probiem for federal authorities was
because bootieggersASuch as Al Caplime haa created a hu_ge illegal liquor indusiry.

7. By slugying the problems of office workers it was determined that eyestrain is the most
gequent complaint among wotkets. 8 . | £

8. I saw miniatures of fast-f](;)od restaurants and equipment ihat were delighting children

A B Cc

gathered around them.

9. Historialx)ls trace the beginnings of jazz back to the work songs and spirituals sung by
black plantation .worke“:; these songs had their roots in the workers® African h_gg'@gg.

10. Not until the Ming Dynasty (1 3(6:8-1644) did tea become available to Europeans, _2__@
qu‘i?:kly discovered its delights. Both as aB drink and as a highly lucrative cormnogity for

D

trade,

Part (B): Questions 11-25. Choose the best answer that matches the underlined words
(phrases) or completes the sentence. (30%)

11, Several corporations have formed consortiums 1o finance child-care centers where
priority slots 10 employees.
A, were allocated B.areallocated  C. have allocated . had allocated
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2. The government with many complaints and doubts after the 3/20 Presidential

election result.
A. has been being bombarded B. bombards : -
C. was bombarded D. has bombarded '

13, Arabic script was replaced with Roman alphabet in official documents.
A. Arabic script is in use.
B. Arabic script was substituted for Roman alphabet.
C. Arabic script has substituted for Roman alphabet.
D. Roman alphabet was substituted for Arabic script.

14. I heard children's voices and imagined the house where a fancy-dress party was in full

swing.
A. fully active B. fully messy C. fully successful D. fully stodgy

15. When choosing an acupuncturist, you are recommended to find the practitioner who has
had two vears of training a(n) acupunclure school.
A.  credited B. public C. accredited D. private

16. The benefit of cardiovascular fitness is the increased ability to chase the dog around the
yard or play some backyard volleyball and not be __

A. wiped off B. wiped out C.wiped away  D. wiped over
" 17. Frank would be maore popular in the office if he didn't try so hard to himself with
the boss.
A. regard B. sympathise C. congratulate D. ingratiate

18. Because of cutbacks in council spending, plans for the new swimming pool had to be

TA stockpiled B. overthrown C. shelved D. disrupted
19. Can you the BBC World Service on your new radio?
A. put on B. take in . Cogetat D. pick up
20. The recent economic crisis has brought about a _ in world trade.
A. shump B.sag C. droop D. tilt
21. After loggers chop down trees, their trunks __into logs that are then hauled to pulp
and saw mills of wood product.
A. cutting B. are they cut C. that cui D. are cut
22, railroad in the United States during the 1350°s powerfully stimulated American
iron industry
A. The building of B. There were built C. To build D. Had built
23. Industrialization has been responsible for most radical of the environmental changes
caused by humans.
A.a B. the C. some of which D. which are the
24. Penicillin, probably' , came into widespread use afier the Second World War.
A, an antibiotic of known - B. was known the antibiotic
C. the best-known antibiotic D. known best antibiotic
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25. Joshua’s telephone number was forwarded to a stranger’s answering machine, where his
friends trying to reach him heard a male voice identify himself as Joshua. He thought if
the hacker had been truly evil and omnipotent as only fictional movie hackers are, he
____ Joshua’s credit rating.

A. could have sabotaged B. will sacrifice
C. would sabotage ID. would have sacrificed
II. Cloze test (15%): Choose the best answer that completes the sentence.

{1) The first settlers went to North America in order to escape from the many conirols which
they (1) under in European societies. These controls were created by the kings, the
aristocracy, the church and governments which had _(2)  in European countries. Their
power was in various ways _(3) 1o control and limit the lives of ordinary people. In Europe,
the land was mostly owned by the aristocracy - rich families who had _(4)  their wealth

over generations - and the church. The church _(3) the way people could live and think, and
kings used their power to rule and tax the people as they wished.

So many ordinary people decided to _(6)  a better life 3000 miles across the sca in America.
Many _(7)_ in finding what they looked for, but they did not forget the reasons why they
had left Europe. People went to America for many reasons, but probably the most important
was the dream of freedom. The idea, and the word, "freedom" has a very special meaning for
Americans, and more than _(8) else it expresses the most important of American values.

(from hitp://vic polyu.edu.bk/)

1. A. had lived B. had been living C. have lived D. lived

2. A. money B. wisdom C. power D. education

3.A wereused  B. used C. was used D. that were used

4. A. taken up B. made up C. brought up D. built up

5. A.persuaded  B. controlled C. emancipated  D. eliminated

6. A. imagine B. improve C. try D). seek

7. A. failed B. continued C. succeeded D. hoped -
8. A. anything B. nothing C. another D. something

(2) Appointment in Samarra

There was a merchant in Bagdad who sent his servant to market to buy provisions, and
in a little while the servant came back, white and _(9) , and said, “Master, just now when I
was in the market-place I was jostled by a woman in the crowd and (10) I turned | saw it
was Death that jostled me. She looked at me and made a threatening gesture; _(11) . lend me
your horse, and I will _(12) away from this city and avoid my faie. I will go to Samarra
and there Death will not find me.” The merchant _(13}  him his horse, and the servant
mounted it, and he dug his spurs in its flanks and as fast as the _(14) could gallop he went.
Then the merchant went down to the market-place and he saw Death standing in the crowd
and he came to Death and said, “Why did you make a _(15) . gesture to my servant when
you saw him this morning?” “That was not a threatening gesture,” Death said. “H was only a
start of surprise. I was astonished to see in Bagdad, for I had an appointment with him tonight
in Samarra.” {(By W. Somerset Maugham}

9. A, black B. irembling C. happy D. indifferent

“10. A. where B. because C. hence D. when
11LA now B. but © C.instead D. despite that
12. A stride B. walk C. ride D. jump
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13. A. lended B.lent ~ C.borrowed D. brought
14. A, car B. horse C. wagon D). donkey
15. A, gentle B. welcome C, sudden D. threatening

1L Reading comprehension (30%)
(1) Questions 1-6

The new Financial Secretary Donald Tsang has said he is committed to the principle and
philosophy of financial management enshrined by his predecessor Sir Hamish Macleod, It
was really not surprising 10 hear such a message as our Government has consistently
reiterated its non-interventionist policy.

Our Government is proud of the low taxation policy, free market operation and the
enterprising nature of the economy, as it believes that all these lay the strong financial
foundations that make possible the economic boom in Hong Kong. Hence, the role of the
Government is to interfere, as fittle as possible, in the public sector, for fear of damaging the
"normal" operation of the market.

Government spending in money terms has never exceeded 20 per cent of the Gross
Domestic Product (GDP), since 1945. Many people in Hong Kong are scared by the spectre
of unemployment and yet the Government has done nothing to solve the problem, because
administration officials do not want to spoil the miraculous market mechanism. There is talk
of "self help" by entrepreneurs involved in the market. Meanwhile, the unemployment rate is
rocketing. I believe the Government should act to combat this problem. Owing to the lack of
a compiehensive unemployment security scheme and unemployment insurance which exist in
Western indusirial countries (for example, the US and Germany), Hong Kong's jobless suffer
more psychological and social pressure than their Western counterparts.

The unemployed have a heavy psychological burden to bear. This can lead to them
having feelings of low self-esteem and a feeling that they are worthless. Those who seek help
from the Social Welfare Department (SWID) have to endure the compticated application
procedure and the inhumane and harsh means test. The procedure 10 apply for assistance is
not as easy as one would imagine. This puts the unemployed under great pressure. I do not
believe that maintaining a policy of minimal government intervention will stem rising
unemployment. The Government should maké its "invisible" hand in the market become
visible by, for example, creating more job opportunities for the unemployed; ensuring age
and sex discrimination do not exist in the workplace, restraining employers from exploiting
employees - in the way that some employers do by taking on casual staff and making them
work long hours and, finally, bringing under control the "crazy” property speculation of
capitalists.

1. This passage is:

A. a newspaper editorial B. a letter to a newspaper

C. a newspaper article D. an advertisement placed in a newspaper
2. The writet's attitude to the new Financial Secretary Donald Tsang is:

A. encouraging B. critical '

C. neutral D. committed

3. The main point of paragraph 4 is:
A. to analyze the problem
B. to give reasons for the call for action
C. 1o describe the pattern of government spending
D. to describe the operation of the free market
4. The writer's atiitude to the role of government is:
A, critical of the new initiatives taken
B. agreeing that the less intervention, the better
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C. arguing that more intervention is required _
1. arguing that in the past the wrong type of intervention has taken place in Hong Kong
5. In paragraph 1 it refers to:

A, a message B. the government

C. financial management : D. none of the above
6. In paragraph 2, as can best be replaced with:

A. therefore B. because

C. at the time D. while

(2) Questions 7-15

The United States Constitution makes no provision for the nomination of candidates for
the presidency. As the framers of the Constitution set up the system, ihe electors would, out
of their own knowledge, select the “wisest and best” as President. But the rise of political
parties altered that system drastically — and with the change came the need for nominations.

The first method the parties developed to nominate presidential candidates was the
congressional caucus, a small group of members of Congress. That method was regularly
used in the elections of 1800 to 1824. But its closed character led to its downfall in the
mid-1820°s. For the election of 1832, both major parties turned to the national convention as
their nominating device. It has continued to serve thern ever since.

With the convention process, the final selection of the President is, for all practical
purposes, narrowed to one of two persons: The Republican or the Democratic party nominee.
Yet there is almost no legal control of that vial process.

The Constitution is silent on the subject of presidential nominations. There is, as wetl,
almost no statutory law on the matter. The only provisions in federal law have to do with the
financing of conventions, And in each state there is only a small body of laws that deal with
issues related to the convention, such as the choosing of delegates and the manner in which
they may cast their votes. In short, the convention is very largely a creation and a
responsibility of the political parties themselves.

In both the Republican or the Democratic parties, the national committec is charged
with making the plans and arrangements for the national convention. As much as a year
before it is held, the committee meets (usually in Washington, D.C.) to set the time and place
for the convention. July has been the favored month; but each party has met in convention as .
early as mid-June and also as late as latter part of August.

Where the convention is held is a matter of prime importance. There must be an
adequate convention hall, sufficient hotel accommodations, plentiful entertainment outlets,
and efficient transportation facilities. (1997-B)

7. Which of the following motivated a change in the original method of selecting a President

of the United States? o

A. The framers of the Constitution B. The rise of the congressional caucus

C. The emergence of the party system D. The establishment of national conventions
8. When was the congressional caucus used? _

A.In the early 1800°s B. During the election of 1832

C. Throughout the nineteenth century  D. In several recent elections
9, What can be inferred about why the congressional caucus system was terminated?

A. It was too expensive, B. It took too much time.

C. It did not conform to the Constitution. D, [t did not include enough citizens.
10. The underlined word, “them,” in the last line of the second paragraph refers to

A. conveations B. parties

C. elections . D. candidates
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I1. The underlined word “vital” in the last of the third paragraph is closest in meaning to
A. extremely important | B. always accessible
C. political D. optional

12. According to the passage, the only aspect of political conventions addressed by federal

law involves

A. organization B. choosing delegates
C. voting procedures D. funding
13. In paragraph 4, the author compares
A. nominations and conventions B. finances and the Constitution
C. delepates and candidates D. federal and state laws
14. The words “charged with” in the first line of the fifth paragraph are closest in meaning to
A. responsible for B. excited about
C. blamed for D. in favor of
15. The passage refers to all of the following as necessary in the city where the convention is
held EXCEPT

A. an acceptable meeting place

B. politically aware citizens

C. an easy way of iraveling around the city
. D. sufficient amusement opportunities

IV. Reading for commercial purpose (5%)
Choose the best answer to complete these statemenis about the warranty

1988 GENERAL MOTORS CORPORATION NEW CAR LIMITED WARRANTY

General Motors Corporation will provide for repairs o the vehicle during the wurranty prrivd in accordance with (ic following terms, conditions and limitations:

CORROSION (RUST-THRQUGH) COVERAGE

WHAT IS COVERED
) Any body sheet megal punel that Rusts-Through duc 1o
corcosion is covered for 6 YEARS wr 100,000 MILES
REPAIRS COVERED . - oteurs fiTst § ; '
i N e i . " whichiever occurs first. Sheet metal panels may be ce-
1/7A; ‘l“l-::.zrwt:':;.md{gl::gvc:;cn.\l’:;;‘aktg;c;r;rﬁ;:\:(f)gﬂf:;:}i:ﬁt; pi;:ir:.-dt:?rlrepinccd. This coverage appiics to sll owners of
f—x : il e
—p from defects in material or workmanship. Any required ¢ vehicle

adjustmenis will be made dusing the BASIC COVERAGE
period. New or cemanufactured parts will be used.

OBTAINING REPAIRS

‘Fo oblein warranty repairs, take the car to a Buick dealer-
ship within the WARRANTY PERIOD. present suitable
identification to verify cligibility and request the needed
repairs or adjustments. A reasopable dme must be ai
lowed for the dealership (0 perform necessary repairs.

WARRANTY PERIOD

The WARRANTY PERIOD for all coveriges begms on the
dawe the car is first delivered or put in use (a5 shown on
the cuver of this bookler). It ends an the expiration of the
BASIC COVERAGE or other COYERAGES showu below,

'NO CHARGE
BASIC COVERAGE > Warraaty repairs and adjustmenis (paris andfor labor}
The complete vebicle, except tires, is covered for 12 wiil be made at no chasge {exeept for 3100 POWER-

months or 12,000 miles, whichever oceurs first, Tire TRAIN COVERAGE dueduciible).
conditions caused by defects in material or workmanship

of the vehicle are also covered during this period. The

BASIC COVERAGE applies 10 ait owners of the vehicle,

TOWING
AIR CONDITIONING COYERAGE Towing service, required if your vehicle Is inoperative
The sealed refrigerant portion of the factory-instalied air im! due to a warranted part makfunction, is covered 1o the
conditioning system is covered for 12 moaths, regardicss nearest Buick dealership.
of mileage. This coverage applics to all owners of the
vehicle.

g?ﬂWERTRAIN COVERAGE — 15t Owner

Fottowing expiration of the BASIC COVERAGE, and
subject 10 2 5100 deductible, powerirain components are
covered up toa total of 6 YEARS or 60,000 MILES, which-
ever occurs first. Sce pages 8-9 for a listing of parts cov.
cred, and details on coverage available to second and
subsequent ownars. {Cont'd, next puge)

WARRANTY APPLIES

This wareanty Is for GM cars cegistered in the Unied
states and pormally opered in the United States or
Canacla,
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1. General Motors Corporation witl provide for repairs to the vehicle
A. as long as you own it.
B. during the warranty period, without limitations.
C. during the warranty period, with certain terms, conditions, and limilations.
D. for six years.
2. Repairs will be made by
A. the General Motors Corporation
B. any mechanic you choose
C. the Buick dealer where you bought your car
D. any Buick dealer
3. The basic coverage is for
A. one year
B. 12,000 miles
C. one year or 12,000 miles, whichever you choose
D. one year or 12,000 miles, whichever comes first
4. This warranty begins
A. when the car is delivered to the dealer’s showroom.
B. when you pay your deposit on the car
C. the date your car is delivered to you
D. the date you decide on the car you want
5. Which of the following statements is correct?
A. The warranty is applicable to GM cars run in the world.

B. Corrosion is covered for six years or 100,000 miles, whichever occurs first.

C. Towing service is covered for any improper use of the vehicle.
D. Repairs are free of charge for any parts.
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